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@eucilamssmeT BIesIE) LGS samer ClsmeT_g).

This question paper contains four parts.

L& - I /PART -1

i) Semensg NamssEns@L0 el weflésea . 14x1=14

(i) Gasr@ssiul(herer wrHm el seild WsaD ghLemLw alepuleamens
Camb0shdss GOULHLer el ulamenyb CFisgl 6r(pse]w.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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n(AxB)=6 wHm A={1, 3} erefled, n(B) <y eng :

(1)1 (=) 2 (&) 3 () 6
If n(AxB)=6 and A={1, 3}, then n(B) is :

(@ 1 b 2 () 3 (d o

f:A—>B yerg @Q@mUméE smiy womib n(B) =7 ereflé, n(A) yeng :

(1) 7 (<) 49 (@) 1 () 14
If f: A—B is a bijective function and if n(B) =7, then n(A) is equal to :

@ 7 (b) 49 © 1 (d) 14

1 s 10 cuenyujerer (Qrat(h eTaTaH@HD 2 L LIL) HENETSHH| 6TETSETTID 6@ LI(HLD
WaFS M erewr :

(<=1) 2025 (<) 5220 (@) 5025 (/) 2520

The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :

(@) 2025 b) 5220 (©) 5025 d) 2520

@@ FmL(HS CQasrir auflensufler 31 o miliLjg e o drerar. Agem 16 -eug 2 ML
m eramed, ABSE Fal (HS Casrir euflenguliieh o emer eréveom 2 milisafler ga(Hse
(1) 16 m (<) 62 m (@) 31m (F) — m

An A.P. consists of 31 terms. If its 16th term is m, then the sum of all the terms of this A.P. is :

(@) 16m (b) 62m (¢) 31m d —m

464 -m (P uUTESWLTE IHD GeeuheuareuDmIeT Tengd dnl L Ceuer(HLd ?
(<01 427 (<ap) 163 (@) 8+ () -8+
Which of the following should be added to make x*+ 64 a perfect square ?

(@) 4x? (b) 16x2 () 8x? (d) —8x?
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@ Crilw Foarumigen euenFULLD 6 G D.
(=) CrraCam( (<=}) el LD (@) ureuewerwid  (FF) SFlUFeuameTILD
Graph of a linear equation is a

(a) straight line (b) circle (c) parabola (d) hyperbola

AABC -wléb DE||BC, AB=3.6 G&..5, AC=2.4 Q&.15 wpmibd AD=2.1 GOg..5 erafle,
AE -ullex Barid :

(=1) 1.4 Q&5 (<) 1.8 Q.15 (@) 1.2 Q&.15 (/F) 1.05 Q&.8
If in AABC, DE||BC, AB=3.6 cm, AC=24 cm and AD=2.1 cm then the length of AE is :

(@) 14 cm (b) 1.8 cm (¢) 12cm (d) 1.05 cm

aul L gdlem Qatafliiymls Leraflulladlmbg eul L gHn@E arssamen sTOHCsTH g6
QUETWIETLD ?

(1) @ (<) @ram(®

() preupp cramenflsans () gguid

How many tangents can be drawn to the circle from an exterior point ?
(@) One (b) Two

(c) Infinite (d) Zero

(=5, 0), (0, —=5) wpmid (5, 0) % Hw Yeraflgermed jenw&ssLBD WP&ECSE TS S e
oy

(1) 0 & @GS (=) 25 &. G SeT

(@) 5 & vEseT (FF) 10 &. jGSH6T

The area of triangle formed by the points (-5, 0), (0, —5) and (5, 0) is :
(@) 0sq. units (b) 25 sq. units

C 5 sg. units d) 10 sg. units
9 q
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10.

11.

12.

13.

x=a tan® LHMID y=Db sech creflev,

2 2 2 2 2 2 2 2

y _x _ x Y _ LY Y _
(o) 27271 ()2 727t @) 7727 (M) 7720
If x=a tan® and y=b sech, then :

2 2 2 2 2 2 2 2

y©_xT x>y Y Yy _
@ 772t ® F7z7t © FtFTl @ 57 =0

4 Q&8 2 wyepbd, 10 Qg.15 @l 68l Lupd GQamerL e Cpireul L o (Henaruder
euemeTUrLIL] ¢

(1) 40 T FHT DHOGSET (<) 20 T FHT DO GSH6T
(@) 14 7 &5IT SGSHeT (FF) 80 T FFHT SOGSHET
The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 cm is :

(a) (b)
(©) (d)

40 T sq. units 20 7 sq. units

14 1 sq. units 80  sq. units

gowrer Nl LD LOHMDL 2 WD 2L @F 2 (HeT, @@ bl LHMWD 6
CarersSlen sear jera seflen elSlsD :
(<=4)2:1:3 (@) 1:3:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

(=) 1:2:3 (rF) 3:1:2

(@ 1:2:3 (b) 2:1:3 () 1:3:2 (d 3:1:2

Qarhssuul L wdluLgefle erenel e Blapsslulder Hlapssairs @)(HEs (PlqTg ?
(<) 0.5 () 1.05

Which of the following values cannot be a probability of an event ?

(@) (b) (©)

(=4) 0 () 1

0 0.5 1.05 d 1
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14. @@ pUBSEG Ceume Sl LLgnHsTear Hl&DSS6Targ) % Gouenev dlenL_&amoe
o : 2 . . .
Qmuushsrer HsLpsse, 3 erefled, x -@er WIHLILITETg)
(=1) 2 (=) 1 (@) 3 () 1.5
2
The probability of getting a job for a person is % If the probability of not getting the job is EY
then the value of x is :
(@ 2 (b) 1 () 3 (d) 1.5
L@&d! - 11 /PART - 11
GO : sTemeuCuienid 10 elarés@rsE el welldsaybd. aflarm erewr 28 -&@
SL_L_muwng adlenL_weflésab. 10x2=20
Note : Answer any 10 questions. Question No. 28 is compulsory.
15. AxB={3,2), 3, 4), (5 2), (5 4)} eralléd, A DOMID B -5 Hreins.

16.

17.

18.

If AXB={(3,2), 3, 4), (5, 2), (5, 4)} then find A and B.

f(x)=3x—-2, g(x)=2x+k HMID fog=_gof erefled, k -@er ILIHLIG SHTerms.

If f(x)=3x—2, g(x)=2x+k and fog=gof, then find the value of k.

ab xb? =800 erermmeumn <HemLWD @\ WBlens WP(LPESET ‘a” HMID ‘b -B& STanTs.

‘a’ and ‘b’ are two positive integers such that aP x b =800. Find ‘a’ and ‘b’.

&F(HEHGS

Simplify :

4x2y
272

2

4xy><

272

6xz°
20y4

6x2°
204

[ Hpliys / Turn over



7722

19.

20.

21.

22.

23.

1Gemeu(HLd @)(HLIGF FLOGTUTL Iq.6 pLpBEISETET Fn(hged HMID ClLIHESSDHLIGVET &TeHTs.
x2+8x—65=0

Find the sum and product of the roots for following quadratic equation.

x2+8x—65=0

@@ waflgar 18 S fpsCs Cgarny Werearm 24 S aL&Cs Cgodlprer. QsrL&s
Blepaulledmbgl e QMmHEGD CgTenaaneals SreTs.

A man goes 18 m due East and then 24 m due North. Find the distance of his current
position from the starting point.

A(=3,9), B(a, b) bpmid C(4, —5) eraruear e CarLenops Liareflger wHmib a+b=1
erefled, a wHMLD b -udlerm WELIMLISG &TeuTs.

If the points A(—3, 9), B(a, b) and C(4, —5) are collinear and if a+b=1, then find a and b.

(=1, 2) ereorm Lyemaril eulfl ClFdeugibd, Fmiiey 4 2eLwgwrar CrraGsmiig e

FLOGTUTL MG &HT6HTs.

-5
Find the equation of a straight line which has slope e and passing through the point
(-1, 2).

/?—isg = cosec + cotd ererTLIaNg IHlemLissa, .
— cos

Prove that ,/Hﬂ = cosech + cotf.
1 — cosb
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24. @@ Havw SorsGararsder jgliLipliy 1386 F.18 erafled, ger Qwrssl
HUoUUFLenLS &Tenrs.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area.

25. 2 wipd 2 18 wHmibd SjiqliLglin 250 &.15 QST g 2 (HEneTuller Heum HeTemeLd: STaRTs.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. m.

26. Qarhdsiul L sre|l Yarals@né@ el wpmib i§&50s1) < dweuhennsd srems.
25, 67, 48, 53, 18, 39, 44
Find the range and coefficient of range of the following data :

25, 67, 48, 53, 18, 39, 44

27. & QBLLrarmged (leap year) 53 gaflgslpanivser denl LiLishsrean Hlapsse| eremer ?

What is the probability that a leap year selected at random will contain 53 Saturdays ?

28. 23 wHmid 12 Y Hweupdlern L5.CLT.cu. Srehrs.

Find the HCF of 23 and 12.

L@&3| - III / PART - III

@Ml : eTemeuCuenid 10 aleTésERsE ellew wellEsayb. aflerm eremr 42 -5
SL_Lmwwng edenwefl&Ese|b. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.
29. A={xeN|1<x<4}, B={xeW|0=x<2} O HmILD C={xeN|x<3} el 6,
A X (BUC)=(AXB)UAXC) cremmieng &fLMT&S6LD.

Let A={xeN|1<x<4}, B={xe W|0=x<2} and C={xeN|x<3}. Then verify that
A X (BUC) = (A xB)U(A xC).
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30.

31.

32.

33.

34.

A={0,1,2,3} wpmib B={1, 3,5, 7, 9} eresriie @@ SEMTBIGET 6Teo . f:A—B erenld &L
f(x)=2x+1 eranrs QarhHssliul_(Herargl. @Fgrrilenens Csmer ()

(i) bySGEM LLLD (i) I L euenemt
(i) ouflenssd Camgsaflen semrid (iv) euenruLLDd
< Flwenenms &H&EEHeLD

Let A={0, 1, 2, 3} and B={1, 3, 5, 7, 9} be two sets. Let f:A—B be a function given by
f(x)=2x+1. Represent this function

(i) by arrow diagram (i) in a table form

(iii) as a set of ordered pairs (iv) in a graphical form
FB(HBO ST : 93 +10%+.......... 213

Find the sum of 9+103+.......... 213

64x —16x3 +17x2 = 2x +1 GTETLFET GUTEHELPELD FHTEHTS.

Find the square root of 64x*—16x3+17x2—2x+1.

3 1
A= [_1 2} erafled, A2—5A+71,=0 eran Flmieys.

3 1
If A= [_1 2} show that A2—5A+712=O.

Ggeev Coppsans er(pdl Hlipisselib.

State and prove Thales Theorem.



35.

36.

37.

38.

39.

(=9, —2), (=8, —4), (2, 2) LHYD (1, —3) PFw YeTaTlsemeT (PererEHaTTES Gl TeuwTL
BIHSISSlen LTFLienLss Sres.

Find the area of quadrilateral whose vertices are at (=9, —2), (=8, —4), (2, 2) and (1, —3).

A(—4, 2) bpmiId B(6, —4) eTenmm LjeTallFHener @Qeemm&H@GLd enowld &S5S5IECEHTL g 6o
FOGTUTL DL & SHTEHTS.

Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and
B(6, —4).

@@ sluO&ET smsomy alarssssler @@ LSSBISTIQD S0l LWL6wTLD
Cewdlermer. @@ sULOsaNO(HES soBsmT alarTsssdear o Ffuller Hms
Caremrhiger wpenmGui 30° wHmID 45° Y,@GD. somsmT cllaTéssddlen 2 wirb 200 Wb
rafile, Q@ sLUULSEREG QLG 2 drer Lgramamels srans. (/3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse

is 200 m high, find the distance between the two ships. (/3 =1.732)

45 Qg5 2 wyepeTer ff QL sasaLgdler @@ LDp < Thisar wapCGu 28 GlF.0
HmLD 7 QF.15 erasfle, QDL_EHEMTL_SIH 6T ST DHTENCUSH ST,

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum.

6 QF.15 <rb wHmb 15 Q&5 2 wrb Qarar e GBI Ul L 2 (HeneT 6ulgeull
LrSSTD ppeugions Lafldamp (Ice-cream) 2 6TeTg). Db LSS PTang), FaldL]
LHMILD ADF&ECHTTD @anenhs eulgauddle BlriuiiuGdng. sabller 2 wiyb 9 Gg..5
LHMID Y rb 3 Qg8 erafle, ursdrsde o drar Lafldamenl HFliL aTssamans
FalbLsem CHeneu ?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of

ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having
a hemispherical cap. Find the number of cones needed to empty the container.

7722
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40. 24, 26, 33, 37, 29, 31 g dweupdler LIMUT(HE CEHLPneLs SHTewTs.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

41. @Qrew(h USLEET e (pem 2 (BLLlu@dleamer. pge LsamLuled 1ps wHlLiL
@rleL 1 UL eTam g (P& wIllLseier amBHge 8 -ss Hal LIusnarer
BlEDESHMEIS STeuTs.

Two dice are rolled once. Find the probability of getting an even number on the first die or

the total of face sum 8.

42. 74774777+ oo, eremmp CsrLim euflepgullen n o mliLseflen sn(HFed SHmemwrs.

Find the sum to n terms of the series 7+77+777+..............

u@&3 - IV [ PART - IV
GO : Semesisgl Nanmss@rsEn alenlwafldsea]b. 2x8=16

Note : Answer all the questions.

43. (1) PQ=45 Q&g.15, R =35 whmbd 2 &8 R -uledmbg euenrwiiui’ L pH&CHTL g6
Berd RG=6 Q&5 eream ojenwwjwomm APQR auanys.
S|6V60F)
(=4) 6 Qa5 el perer eul L b auerhg el Lgdler ewwsHelmbg 8 Gla.
Qgreneailer P eremm Leteflenwsd @MlEseyd. SiliLjeretiudedmbg PA wHmib
PB eratiy @) CarhHCasrhiger cuanrhg eubdlen Hermigamer ojearedl(hs.

(a) Construct a APQR which the base PQ=4.5 cm, |R = 35° and the median RG from R to
PQ is 6 cm.

OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.



44. (=) y=2x2-3x—5 -wllern cuepTLIL LD cueTHE, A& LiwerU(BSH 2x%—4x—6=0

(=) xy=24, x, y > 0 6TeMD GUMTLIL MG GUMIE. auemTLL S LweTUHSS),

11

eTeM FLETUTL ML G STH&SeLD.

S|6V60F)

(i) x=3 crafled y -0 sTews.

(i) y=6cTafled x -|& FHTeS.

Draw the graph of y=2x2—3x—5 and hence solve 2x>—4x—6=0.
OR

Draw the graph of xy=24, x, y > 0. Using the graph find,

(i) vy when x=3 and

(i) x when y=6.
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